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Attempt all questions.

1. Attempt any four parts of the following:  5x4=20

(a)
(b)

()
(d)

(e)
(f)

Explain Solow's growth model.

Differentiate between absolute and relative
poverty.
What is Infrastructure? What is its importance.

Differentiate between Balance of Trade and
Balance of Payment.

Explain the role of WTO.

Discuss the objectives of 5™ Five Year Plan in
India.
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2. Attempt any four parts of the following :

3

4,

(a)
(b)

(c)

(d)
()
()

Attempt any two parts of the following :

(a)

(b)

(c)

Attempt any two parts of the following :

(a)

2

5x4=20
Environment as a necessity and luxury. Explain.

What is the role of agriculture in economic
development?

How can you state international trade as an
engine of growth?

Explain the concept of intellectual capital.
Elaborate the theory of social change.

What do you understand by Indicative Planning?
Explain.

10x2=20

What is the role of monetary in developing
countries? Explain.

What are main features of Harrod and Domar's
theory of development?

What is Pollution? What are the different
measures to control pollution?

10x2=20

Explain the objectives of Monetary Policy.

5.

(b)

(c)

Attempt any four parts of the following :

(a)
(b)
()

(d)
()
(f)
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What are indicators of sustainable development?
Why do we need indicators?

What are MNC's? What is the role of MNC's in
a developing countries?

5%x4=20
Define decentralized planning.
Expand and explain the term ‘FDI’.

What is a ‘Cost Benefit Analysis’? Explain
briefly.

Explain the concept of ‘dual-gap analysis’.
Is population a wealth or a liability for a nation?

What was the impact of globalisation on Indian
Agriculture?
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